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SAMPLE QUESTION PAPER (2023-24)
ENGLISH LANGUAGE AND LITERATURE (Code No. 184)
CLASS-X

Time allowed: 3 Hrs. Maximum Marks: 80

General Instructions:

1. The Question Paper contains THREE sections-READING, GRAMMAR & WRITING
and LITERATURE.

2. Attempt questions based on specific instructions for each part.

SECTION A : READING SKILLS (20 marks)
Reading Comprehension through Unseen Passages

1 Read the passage given below.

10

(1) Did you know that some people don't do their reading assignments? It's shocking,
but it's true. Some students don't even read short texts that they are assigned in
class. There are many reasons for this. They may be distracted or bored. They may
be unwilling to focus. They may be unconfident readers. Whatever the reason, it
has to stop today. Here's why.

2) Reading stimulates your mind. It is like a workout for your brain. When people
get old, their muscles begin to deteriorate. They get weaker and their strength
leaves them. Exercise can prevent this loss. The same thing happens to people's
brains when they get older. Brain power and speed decline with age. Reading
strengthens your brain and prevents these declines.

(3) | You can benefit from reading in the near-term too. Reading provides knowledge.
Knowledge is power. Therefore, reading can make you a more powerful person.
You can learn to do new things by reading. Do you want to make video games? Do
you want to design clothing? Reading can teach you all this and more. But you
have to get good at reading, and the only way to get good at something is to
practise.

4) Read everything that you can at school, regardless of whether you find it
interesting. Reading expands your vocabulary. Even a "boring" text can teach you
new words. Having a larger vocabulary will help you better express yourself. You
will be able to speak, write, and think more intelligently. What's boring about that?

(5) | Do not just discount a text because it is unfamiliar to you. Each time you read, you
are exposed to new ideas and perspectives. Reading can change the way that you
understand the world. It can give you a broader perspective on things. It can make
you worldlier. You can learn how people live in far away places. You can learn
about cultures different from your own.




(6)

Reading is good for your state of mind. It has a calming effect. It can lower your
stress levels and help you relax. You can escape from your troubles for a moment
when you read, and it's a positive escape. The benefits of reading far outweigh
those of acting like a doofus. So do yourself a favour: the next time you get a
reading assignment, take as much as you can from it. Squeeze it for every drop of
knowledge that it contains. Then move on to the next one.

Answer the following questions, based on the passage above.

Select the option that is an INAPPROPRIATE reason for students’ dislike for
reading.

A. They are not confident.

B. They are in shock.

C. They are not interested.

D. They don’t want to focus.

i

Select the option that corresponds to the following relation below:
People get old, their muscles begin to deteriorate.

Children become lazy, their grades_decline.
Food gets scarce, animals turn maneaters.
Technology advances, comfort increases.
Inflation_mounts, hardships rise.

Cowp»

il

Select the option that refers to ‘workout’ in the statement given below:
It’s like a workout for your brain (paragraph 2)

exercise
muscle power
reading
running

Cowp

v

Analyse the tone of the author in the line ‘what’s boring about that?’ (paragraph 4).
What makes him adopt this tone? Write your answer in about 40 words.

Reading helps us develop a much wider and better point of view. How does the
author justify this advantage of reading in paragraph 5? Rationalise your response
in about 40 words.

Vi

The writer says, “Don’t just discount a text because it is unfamiliar to you.”
Select the option that gives the appropriate meaning of the word ‘discount’ here:

A. minimise
B. reduce




C. dismiss
D. acclaim

Vil

Supply text from the passage which implies the following:
Read thoroughly whatever you are reading, get the most out of it.

viii

The author states, ‘Reading is good for your state of mind.” Cite one reason to
justify the author’s claim.

Read the passage given below.

10

(1)

Lifestyle is a combination of behavioural patterns and personal habits throughout
the life including nutrition, mobility, and behavioral habits which would be formed
due to the socialization process of the individual; therefore, selecting the type of
lifestyle and its related behaviors, besides having an essential role in individual's
health, might lead to outcomes and results that could be effective in the
performance and quality of physical, mental-psychological, and social health of
the individual too.

(2)

Many life-threatening factors could be avoided by changing and improving the
lifestyle. Hence, one of the goals of the World Health Organization is to improve
individuals’ lifestyles. According to the history of researches on modification of
lifestyle, 90% of type II diabetes, 80% of cardiovascular diseases, and 1.3% of
cancers could be prevented by weight control, nutrition modification, performing
physical activities, and avoiding cigarettes.

(3)

Walker and Hill-Polerecky categorized the elements of lifestyle into six domains
including taking responsibility toward health, physical activity, nutrition,
interpersonal relations, stress management, and spiritual growth.

(4)

Health does not mean merely not being sick or disabled but it also includes full
physical, mental, and social welfare, so health is a relative concept and health
criteria differ between different age groups and social and cultural classes. Hence,
each country should be deciding based on their own norms and then search for
ways to achieve the predetermined level of health.

(3)

Health value means valuing the health by the individual. In other words, when one
values their own health, they would express health behaviors meaning that health
would have priority over other values to the individual.Improving the concept of
health value in the individuals is the final goal of providing health services which
would decrease the costs in the field of health services and consequently improve
the performance in providing health and therapeutic care. This concept would be
formed through mutual efforts between the caregivers and individuals during the
entire period of receiving health-care services.

Answer the following questions, based on the passage above.




Complete the following analogy appropriately, based on your understanding of
paragraph 1.

Just like deforestation is one of the causes of a deteriorating environment,
similarly, a sedentary lifestyle is responsible for our deteriorating health because

i

Fill the blanks with the appropriate option from those given in brackets, based on
your understanding of paragraph 4.

The statement that , Health does not mean merely not being sick or disabled but it

also includes full physical, mental, and social welfare , is (a fact/ an
opinion) because it is (a subjective judgement/ an objective
detail).

il

Justify the following, in about 40 words.
Modifications in lifestyle can prevent several sedentary problems like obesity,
hypertension etc.

iv | Based on the conclusion, how should a country’s government search for ways to
achieve the predetermined level of health ?

v In paragraph 5, Improving the concept of health value in the individuals would
decrease the costs in the field of health services.
State any one inference that can be drawn from this.

vi Select the option that correctly displays what ‘life-threatening’ signifies.

(Reference - Paragraph 2)

J1Z »
A NS| a5

SMOKING
(@) (ii) (iii) (iv)
A. (i),(i1) and (iii)
B. Only (ii)
C. Only (iv)

D. (ii) and (iv)

Vii

Infer the roles of the caregivers and the individuals in the entire period of receiving
health-care services. (Answer in about 40 words)

Viii

Which of the following is the main takeaway from the study mentioned in the
passage?




A. Sedentary lifestyle has minimal impact on our health and mind.
Health means merely not being sick or disabled.
C. Improving the concept of health value is the final goal of providing health

w

services
D. Lifestyle is only a combination of behavioural patterns and personal
actions throughout the life

SECTION B : WRITING SKILLS & GRAMMAR (20 marks)

GRAMMAR 10
3 Complete ANY TEN of twelve of the following tasks, as directed. Ix10
i Fill in the blank by using the correct form of the word in the bracket, for the given
portion of a letter:
1
Sir
This is with reference to your order No. 1123/DBS/23 dated 8 May 2023
(regard) the delivery of a few books for our school library.
ii Read the given sentence from a review report about conventional means of post.
Identify the error and supply the correction in the sentence.
1
Even in the age of science and technology where email is the most convenient
mode of communication, letters has not lost their relevance even today.
Use the given format for your response.
Error Correction
iii | The teacher was revising the Battle of Panipat for the class. Report the teacher’s 1
question.
Did you read about the Battle of Panipat?
iv Read the dialogue between Madhavi and her mentor, Payal regarding her research 1

proposal.

Payal: Could you speak about your topic of Research Proposal?
Madhavi : Well my topic is “ Importance of Sports for Adults”

Select the correct option to complete the reporting of the above dialogue.

Payal asked Madhavi if of Research Proposal.
Madhavi exclaimed that her topic was the Importance of Sports for Adults.




She could speak about her topic
She could spoke about your topic
She would spoke about her topic
I could speak about her topic

Cowp

Fill in the blank by choosing the correct option, to complete the concluding idea .
Maddie agreed with Peggy (that/ then/ this) Wanda really liked them
very much.

Vi

Identify the error and supply correction for the given sentence from the

Department of Tourism.

If we wish to earn more from our tourists we must built the infrastructure.
Use the given format for your response

error correction

Vii

Select the option that identifies the error and supplies the correction for the closing
line, from an analytical report.

While technology has helped, the real challenge for the next decade will be
imposed the right governance on technology itself.

Option No. error correction
A helped help
B decade decades
C imposed imposing
D on for

Viii

Complete the given narrative, by filling the blank with the correct option.

Hopscotch is a game of skill that requires physical agility and
the player’s balance and precision.

A. Nimble

B. Nimbleness
C. Nimbility
D. Nimbles

, and tests

X

Report the dialogue between grandmother and the servant, by completing the




sentence.

Grandmother: Take the papayas to Mrs. Ghosh at the school this afternoon.
Servant : I will take them after I water the plants.

The grandmother asked the servant to take the papayas to Mrs. Ghosh at the school
that afternoon.

The servant answered in affirmative and explained that

Fill in the blank by choosing the correct option to complete the live feed on the
school website.

Congratulations Arya Yuva Club

Rotary has announced their annual awards and Arya Yuva (Interact Club)

the Platinum Trophy .

Has won
Win
Will win
Won

Sowp»

xi

Complete the line from a self composed poem on the topic_technology and
transparent by filling the blank with the correct option
Data is the new gold rush of our time,
And companies to claim their share in the climb.
But with great power comes great responsibility,
And it's time for transparency to take priority.

scramble
scrambled
scrambles
will scramble

Sowp»

Xii

Identity the error and supply correction for the following note from SPORTS
MAGAZINE

Note : Gilli danda is a street game playing in rural areas and small towns all over
South Asia, Cambodia, Turkey and Italy.

Use the given format for your response

Error correction

WRITING SKILLS

10




Note : All details presented in the questions are imaginary and created for
assessment purposes .

44.

You are Manya Lamba of K-12 Noida, UP. Three students of grade 10 from your
residential complex have volunteered and helped some old people from the
neighbourhood. They accompanied them to markets, banks,etc and helped them in
getting their tasks done. You think that their work deserves appreciation and
recognition. Write a letter in about 100-120 words to the President of the RWA,
seeking recommendation for these youth, to be nominated for ‘Serving Citizens’
Award’. Suggest other ways in which such acts of kindness could be recognised
and awarded in the future.

OR

4B.

Last year you purchased the Tata Voltas AC from the Electronic Paradise, Kohat
Enclave, Delhi. The AC is not functioning properly. The service center people are
not even able to repair, therefore you have asked for the replacement.You are
Rajesh/ Riya Duggal of AP-34, Pitampura.

54

You are a conscious meteorologist and studied the temperature of different cities
for the months of June and December 2022. You prepared a bar graph to analyze
which city has the most temperature change when compared to others.

40°C o 40°C
30°C 28 30°C ‘
o i |
20°C 20°C
a : E 0*C 10| 2
i | 10°C T =]
10°C = 5 i3 : EE' 2|
RI- 2| = 2|&|= |8
| June | | December

Write this analytical paragraph in about 120 words, by selecting features that
support your analysis.

You may begin like this :
The bar graph reveals the changes in temperature in 4 big cities in summer and in
winter...




You may end like this:
Overall among all the cities of India, Bangalore has the stable temperature

throughout the year.

5B

Vihaan, of class XII, is preparing for CUET. He has made some plans for
managing his time. Given below is the mind map prepared by Vihaan on the
importance of managing time and the problems he faced in time management.

Managing —
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! problems -I.uw_rueadfnr achievement
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+ Sol the scone
Effective use of * Concentrabe, stay focused

1 astudy session yoursel
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skills Computer skills
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Reusable ;:::ﬂ:::::l 9 1 bf') "+ Efficientuse of study lime
PESOURCES . Chckliats \ :

Write an analytical report based on the notes made by Vihaan in about 120 words

You may begin like this :

As a responsible student, Vihaan has prepared the right course of action plan ...
You may end like this:

Overall little problems can be tackled as he started mastering time.

SECTION D : LITERATURE TEXTBOOK AND SUPPLEMENTARY READING TEXT (40

marks)

Reference to the Context

10

Read the given extracts and answer the questions for ANY ONE of the two, given.

We kids would be pushed aside with a mild rebuke and the loaves would be delivered
to the servant. But we would not give up. We would climb a bench or a parapet and
peep into the basket, somehow. I can still recall the typical fragrance of those loaves.




Loaves for the elders and the bangles for the children. Then we did not even care to
brush our teeth or wash our mouths properly. And why should we? Who would take the
trouble of plucking the mango-leaf for the toothbrush? And why was it necessary at
all? The tiger never brushed his teeth. Hot tea could wash and clean up everything so
nicely, after all!

The author declares, ‘But we would not give up.’
Find an instance from the extract to justify the author’s claim..

i

In the line, ‘I can still recall...” , the author is feeling:
A. sad

A. irritated

B. nostalgic

C. anxious

i

Which attributes of childhood are highlighted in the given extract? Write in about 40
words.

iv | According to the author, children were too eager to have the bread bangles. Do you
agree with the given statement? Why/Why not?
OR
B | “Well, there’s the one about the Chinese emperor who always boiled water before

drinking it. One day a few leaves of the twigs burning under the pot fell into the water
giving it a delicious flavour. It is said they were tea leaves.”

“Tell me another!” scoffed Pranjol.

“We have an Indian legend too. Bodhidharma, an ancient Buddhist ascetic, cut off his
eyelids because he felt sleepy during meditations. Ten tea plants grew out of the
eyelids. The leaves of these plants when put in hot water and drunk banished sleep.
(Tea from Assam)

Which of the following is NOT true about legends of tea leaves?
Tea leaves have a delicious flavour.

A chinese emperor drank boiled water.

Hot tea water is quite sedative.

Eyelids became breeding grounds for the tea leaves.

Cowp»

i

Why is it fair to say that though Rajvir was a visitor but he had more knowledge than
Pranjol who was born and brought up in Assam? Answer in about 40 words.

il

Read the following descriptions (a)-(c) and identify which one correctly corresponds to




the extract.
(a) A Fact : something that you know has happened or is true
(b) A myth : an idea or story which many people believe but that does not exist or
is false
(c) A prophecy : a message that has been communicated to a person by a
supernatural entity.

v

If a visitor is planning his tour/ trip, what things should he keep in mind regarding the
place?

Read the given extracts and answer the questions for ANY ONE of the two, given.

‘Now

He senses first responsibility

In a world of possessions. People will take
Balls, Balls will be lost always, little boy.’

In the phrase ‘senses first responsibility’, the poet refers to the child becoming .

i

The poet is trying to the boy.

Threaten
scare
guide
ignore

Qwp >

i

Which aspect of human life does the poet stress on, in the last two lines of the extract
given above? Explain in about 40 words.

v

Comment on the use of ‘ball’ as a metaphor in the poem.

OR

(I am an orphan, roaming the street,
I pattern soft dust with my hushed, bare feet.
The silence is golden, the freedom is sweet.)
(Amanda)

In what way is the poem conversational?

i

What is the significance of the words "silence" and "freedom" for Amanda and how
does this choice of words contribute to the overall mood and tone of the poem? Answer




in about 40 words.

iii | Complete the sentence with the appropriate option. 1
The lines from the poem tell us that the girl desires
A. Dependence
B. Freedom
C. Solace
D. Boundations
iv | Identify the trait of Amanda as depicted in the lines of the poem. 1
8 | Answer ANY FOUR of the following five questions, in about 40-50 words. 4x3=12
i | Justify Mandela's statement- ' I was not unmindful of the fact that not so many years 3
before they would not have saluted but arrested me.' (Nelson Mandela- Long Walk to
Freedom)
ii | How does Robert Frost bring out the contrasting idea in his poem - ' Fire and Ice'? 3
iii [ Explain how writing in a diary was a strange experience for Anne Frank ? What light 3
did it throw on her character? (From the Diary of Anne Frank)
iv | The seagull family's upbraiding, threatening and taunting behaviour towards the young 3
seagull was all superficial. Elaborate. (His First Flight)
v | How does losing the ball give the boy an experiential learning about life? What is the 3
outcome of this learning? (The Ball Poem)
9 [ Answer ANY TWO of the following three questions, in about 40-50 words. 2x3=6
1 | A surgeon does not always need surgical instruments to treat. Justify. ( A Triumph of 3
Surgery)
i1 | H.G.Wells was a writer of science-fiction works who had a great influence on our 3
vision of the future. Comment on this with reference to the story Footprints Without
Feet.
iii | How does urge to get education play a transformative role in Hari Singh’s life in A 3
Thief’s Story.
10 | Answer ANY ONE of the following two questions, in about 100-120 words. 1x6=6
(A) | Lencho was tensed as he was waiting for rain for good yield but then he was in pain

due to the flood. Our country is also facing such situations in recent years. There is
flood and there is drought. There is a need to save water through water harvesting. You
have been chosen to address a student gathering in your school, to speak on the pitiable
condition in one’s life due to natural calamity.




Prepare the speech draft in not more than 120 words, with reference to Water
Conservation and SDG 6 :Ensure access to water and sanitation for all.

You may begin this way:

Good morning, everyone. Today, keeping the story A Letter to God at front I'd like to
discuss the importance of water in our lives....

To conclude, I’d like to say that ...

No farmer will suffer if Rain water harvesting becomes an indispensable part.

OR
(B) | You are the Indian delegate who has to address the world delegates, highlighting the
rich cultural heritage of Coorg and valour and the dedication of its people. Prepare the
speech in not more than 120 words, with reference to in the chapter -‘Glimpses of India
- Coorg’.
You may begin this way:
Good morning everyone. Today I'd like to discuss a short piece of literature that offers
a deep insight into the rich cultural heritage of India's most beautiful place.
You may end this way:
To conclude, I'd like to say that......
Thank you.
11 Answer ANY ONE of the following two questions, in about 100-120 words. 1x6=6
(A) | ‘Once bitten, twice shy’ holds true for Horace Danby who would never again believe
that there is honour among thieves.
In the light of the above information, trace the downfall of Horace Danby in Victor
Canning’s A Question of Trust.
OR
(B) | Imagine that Fowler, from The Midnight Visitor by Robert Arthur, writes a diary entry

about his realisation of the fact that all superheroes do not wear capes and also that
appearances can be deceptive.
Write this diary entry, as Fowler, in about 120 words




MARKING SCHEME

Reading Comprehension
Unseen Passage 1

(1) B . They are in shock. (1)

(i1) A. Children become lazy, their grades decline. (1)

(ii1) C. reading (1)

(iv)The author uses a critical tone here. He challenges the opinion of people, who consider
reading boring. He is dissatisfied with their response as reading has several benefits...it
enhances vocabulary, communication and writing skills etc. (2)

(v) Readers are exposed to new ideas and view points. It can give you a broader worldview.
Readers gain knowledge about people and their lifestyles. Learn about different cultures. (2)
(vi) C. dismiss (1)

(vii) Squeeze it for every drop of knowledge (1)

(viii) Reading calms down a person; reduces stress; provides a positive escape from one’s
troubles. (1)

Passage 2

1) lifestyle decides one’s health (1)

i1) fact, objective detail (1)

ii1) weight control, nutrition modification, performing physical activities, and avoiding cigarettes
can be helpful (2)

1v) decide their own norms as health criterias differ between different age groups and social and
cultural classes. (1)

v) they are inversely related / better the health lesser the medication (1)

vi) D.(ii) and (iv) (1)

vii) care givers : improve the performance in providing health and therapeutic care

Individuals : Improve the concept of health value (2)

viii) C. Improving the concept of health value is the final goal of providing health services (1)

Grammar

Q3

1) regarding

i1) has —- have



i11) The teacher asked students if they had read about the Battle of Panipat
iv) A She could speak about her topic

v) that

vi) built —- build

vii) C imposed —- imposing

viii) B Nimbleness

ix) that he would take them after he watered the plants

x) A Has won

x1) A scramble

xii) playing — played

Ans 4A Suggested Response
K-12 Noida

Uttar Pradesh

Date

The President

RWA

Noida

Sub : Recommendation for ‘Serving Citizens Award’

Sir/Ma’am

This letter is regarding three students of our residential complex who helped some old people
from the neighbourhood. They accompanied them to the markets, banks etc and helped them in
getting their tasks done. I feel that such volunteers deserve appreciation and recognition. I would
like to nominate these three students namely, Aaradhya Sharma, Rahmat Khan and Komal Bedi
for ‘Serving Citizens Awards’.

It’s really a rare sight when young people come forward and help the old citizens. It is indeed a
matter of pride that we have such volunteers in our society who believe in serving humanity.
This not only creates love among the people but also inculcates values among the youth. I also
appreciate the initiative of our RWA which promotes such activities. ‘Serving Citizens Awards’
is one such initiative that encourages people to be kind and helpful.

I would also like to suggest some more ways in which such acts of kindness could be recognised
and awarded in the future. Some scholarships or remuneration can be given to young volunteers
who want to study further but are lacking means. A monthly competition can be conducted
wherein the contestants would be judged by the old people of the society for their acts of
kindness. A kindness volunteer can also be appointed to promote the habit of helping among the
youth. Such initiatives would surely encourage more people to come forward and help other
people.

You are requested to kindly consider the above recommendations and suggestions. This would
definitely act as a source of inspiration for all the young volunteers.



Yours sincerely
Manya Lamba

(Format-1, Content -2, Organisation of Ideas - 1, Accuracy-1)

Ans 4B Suggested Response
AP 34
Pitampura, Delhi

Date

Electronic Paradise

Consumer Complaint Division
Kohat Enclave

Delhi

Sir/Ma’am
Subject : Complaint regarding functioning of AC and its replacement

This is with reference to the Air Conditioner that I purchased last year (Model No. 24560) worth
Rs 30,000 from your store.

Unfortunately, your product has not performed well. It stopped functioning just after 2 months of
purchase and the service centre people are also unable to repair it. I am highly disappointed
because such an act of neglect is not expected from such a renowned store.

To resolve the problem, I would appreciate that you change the AC with a new fully functioning
model. I have the receipt. Enclosed are the copies of the bill along with the guarantee card.

I look forward to your reply and a prompt resolution to my problem.

Yours sincerely
Rajesh/ Riya Duggal

Enclosure(s) : 1. Copy of bill
2. Copy of guarantee card

(Format-1, Content -2, Organisation of Ideas - 1, Accuracy-1)

5A Suggested response

The bar graph reveals the changes in temperature in 4 big cities namely, Delhi, Shimla,
Bangalore and Jaisalmer on 1 June 2022 and 1 December 2022. Jaisalmer tops the graph with
highest temperature of 38° and 25° in June and December respectively. On the other hand,
Shimla recorded the lowest temperature of 22° and 10° in June and December respectively. The
temperature of Delhi is slightly less than Jaisalmer i.e. 33° and 23° respectively. However, the
temperature of Bangalore is 28° in June which is very low as compared to Jaisalmer. Though



Bangalore experiences a temperature of 24° in December which is quite equivalent to that of
Delhi and Jaisalmer. Thus, it can be concluded that Jaisalmer and Delhi are equally hot in June.
Whereas Shimla is a cool place as it experiences low temperatures in both the months. Also,
Bangalore has a stable temperature throughout the year.

5B Suggested response

As a responsible student, Vihaan has prepared the right course of action plan. He prioritized his
goals, tasks lists and activity log. Earlier he was a procrastinator and had no goal setting because
of which he faced time management problems. With the result his self esteem lowered down and
anxiety level increased. But by mastering time management he was able to make efficient use of
time. He is now able to set the scene, concentrate, focus and use his study session effectively and
even starts maintaining templates,procedures and most importantly checklists. Furthermore, in
order to study well in time he uses technology like internet search, etc because of which his
computer skills have got enhanced. Overall little problems can be tackled as he started mastering
time.

(Content -2, Organisation of Ideas - 2, Accuracy-1)

Literature

6A

(i) climb a bench ... or the parapet to peep into the basket

(i1) C. nostalgic

(111) curiosity, carefreeness, innocence, thrill in ordinary day to day matters

(iv) Yes. Children were too eager as they did not even care to brush their teeth or wash their
mouth.

6B

.(1) D. Eyelids became breeding grounds for the tea leaves.

(i1) Rajvir had done his research well before coming to Assam. He read all the legends related to
the origin of tea .

(ii1)B. A myth

(iv)the visitor must know about the weather, cuisine, places to visit and history of the place.

7 (4)

(1) mature

(i1) C. guide

(ii1) Materialistic things and humans are transient. The poet also refers to loss being a common
experience for all humans, whether it be because of one’s carelessness or the harsh and selfish
humans around us.

(iv) In the poem ‘ball’ stands for all the materialistic things. It also refers to innocence. Thus

it has been used as a metaphor.

7 (B)



(1) Amanda is talking to herself
(i)  Words ‘silence’ and ‘freedom’ signifies the importance of freedom for
Amanda. These words show that the girl is sad and gloomy and longs for
freedom.
(iii)  Freedom
(iv)  Amanda wants to be free, doesn’t like to be scolded or instructed.

8(i)

Mandela said this during his swearing in ceremony as the President

before becoming the President, he was fighting for freedom of blacks

He knew the army and the officials who were saluting him today would have earlier
arrested him for going against the system of ‘Apartheid’.

(i)
: ‘Fire’ signifies greed, lust, conflict fury

‘Ice’ stands for cruelty, intolerance, insensitivity, coldness, indifference, rigidity

Poet uses the two elements to suggest that the world can end in two ways : by the burning

desire of human or by the cold indifference of humans

(i)
Anne frank had never written in a diary before
She thought nobody would be interested in the musings of a 13 year old
This shows that Anne was a very mature and thoughtful girl who knew how people would
react to her writings.

(iv)

Seagull was afraid to fly, could not muster up enough courage to initiate

His younger brothers and sisters could also fly

His parents' motivation didn’t work, so they had to imply various superficial techniques
like upbraiding, taunting etc. to push him to fly.

V)
e  Losing a ball makes the boy learn how to stand up in a world of possessions where
things will be lost
New things can be bought but they can not replace the memories of the old one.
Also, this loss teachers the child to be more responsible and take care of his things
himself.

9 (1)
: A true surgeon/doctor does not need surgical instruments to survive
In the story, the doctor, Mr Herriot treats Tricki without any instruments by just involving
him in playing and giving hum proper diet

A doctor’s experience and knowledge is more important in analyzing a situation

(i)



H.G.Wells , a great science-fiction works writer had an immense influence on our vision
of the future.

In the story, he draws out the character of a scientist who misuses his exceptional
invention to fool the world around him, also, robbing and hurting others.

His portrayal of such an invention of becoming invisible shows his farsightedness as a
writer.

(i)
Hari Singh , a thief, initially intended to rob Anil.
Anil’s love, compassion and intention to make Hari an educated boy changed Hari who
believed education could help him in becoming outstanding and change his life.

e In the end, even after robbing Anil and running away made him realize his mistake and
brought him back as he wanted to become a learned man as Anil had promised to teach
him further.

Ans 10 (A) Good morning, everyone. Today, keeping the story, A Letter to God at front, I'd like
to discuss the importance of water in our lives. The condition of farmers is very pathetic in our
country. They toil hard day and night but when it comes to irrigation, they depend on rainfall as
there is no provision of supplying water to these far lying fields. They are left at the mercy of
nature to get a bumper harvest. But if by chance , there are floods or drought, then not only their
yield but also their life is destroyed. The need of the hour is to save water and check its wastage.
Rain water harvesting is one of the best ways to save water and utilize it for irrigation purposes.
Our country receives sufficient rainfall .This can be appropriately be saved through rain water
harvesting and can solve the problem of our poor farmers. Hence, I request all of you to stop
wasting water and encourage people to save water and adopt rain water harvesting technique. No
farmer will suffer if Rain harvesting becomes an indispensable part.
Thank you

OR
Ans 10 (B) Good morning everyone. Today I’d like to discuss a short piece of literature that
offers a deep insight into the rich cultural heritage of India’s most beautiful place, Coorg. Coorg
is known for its lush green forests, exotic fauna and brave people. The Coorgis or Kodavus are
known to be the descendents of the Greek army of Alexander. Their hospitality and stories of
valour are an indispensable part of their life. The kodavus are also known for their loyalty. They
are the only people who are allowed to keep arms without licence. The Coorg Regiment is one
of the bravest regiment of the Indian Army. General Kariappa who was the first chief of the
Indian army was also a Coorgi. Coorg also offers numerous adventurous sports to people. To
Conclude, I’d like to say that Coorg is indeed a piece separated from God's own garden.
Thanks

Ans 11 (A)

Horace Danby- good citizen but not honest- robs every year to buy expensive books-plans to rob
Shotover Grange- foolproof plan-trapped by lady in red dress- he opens safe without gloves and
caught- panic stricken, nervousness-forced him to follow the lady’s instructions-will not believe
honour among thieves






Class- X
Sample Paper
Term-1

Subject- Mathematics

Time Allowed: 3 Hrs. Maximum Marks:80
General Instructions:

D AW N -

lq..‘

. This Question Paper has 5 Sections A-E.

. Section A has 20 MCQs carrying 1 mark each

. Section B has 5 questions carrying 02 marks each.

. Section C has 6 questions carrying 03 marks each.

. TSection D has 4 questions carrying 05 marks each.

. Section E has 3 case based integrated units of assessment (04 marks each)

with sub-parts of the values of 1, 1 and 2 marks each respectively.

. All Questions are compulsory. However, an internal choice in 2 Qs of 5 marks,

2 Questions of 3 marks and 2 Questions of 2 marks has been provided. An
internal choice has been provided in the 2 marks questions of Section E.

8. Draw neat figures wherever required. Take 1 =22/7 wherever required if not
stated.
SECTION A
S No. |[SECTION A consists of 20 Questions of 1 Mark each Marks

1. The Ratio of LCM and HCF of the least composite and least prime

number is
a) 1:2 (b) 2:1 { c)1:1 (d) 3:1

2 The pair of linear equations Y=0 and Y= -7 has

{a) One solution (b} Two solutions
(c Yinfinitely many solutions (d) No solution

3. The condition for one root of the quadratic equation

ax" + bx + ¢ = 0to be twice the other is
(a) b° = dac (b)2b° = 9ac (€)c"=4a + b (d)c’ = 9%a — b’

4 The two legs AB and BC of right triangle ABC are in the ratio

1:3,then the value of sinC is
a) V10 (b) 1/ V10 (¢ )3 10 (d) 1/2




C is the midpoint of PQifPis (4, x), Cis (v, -1) and Q is (-2, 4) then x
and y respectively are

(a) -6 and 1 (b) -6 and 2 (¢ ) 6 and -1 (d) 6 and-2

Which of the following equations has the sum of roots as 3 ?

(a) 2x' — 3x+ 6 =0 B)—x +3x—3=0
(W2 = Lx +1 =0 (d)3x" - 3x +3=0
Al

Harpreet tosses two different coins simultaneously. The probability

that she gets at least one head

(a) Va (b) 1/2 (c) ¥4 (d) 1

The perimeter of triangle whose vertices are (0, 4) , (0, 0) and(3,0) is
(a} 5 units (b) 12 units (c) 11 units (d) 7+V5 units

The perimeters of two similar triangles ABC and PQR are respectively
36 cm and 24 cm. IF PQ=10 cm, then AB is

{(a)10em (b}20ecm(c)25cm (d)15cm

10.

A die is thrown once the probability of getting a number greater
than or equal to 3 is

1 1 3 2
@5 M () d

1.

The two opposite vertices of a square are (-1,2) and (3,2),then the
coordinates of other two vertices are
(a)0,0),(1,1) (b) (1,1),(0,1)  (c){0,1),(1,4}  (d)(1,4}.(1.0)

12.

AABC is an equilateral triangle with each side of length 2p units. If AD
is perpendicular to BC then the value of AD is

(@} V3 unit (b) V3p unit (c)2p unit (d)4p unit

13.

The probability of getting 53 Sundays in a non leap year is
(a7 (b)2/7  (c) 37 (d)4ai7

14,

If sinA + cosA = -ﬁcosA(A +90" } then the value of tan A is

(@v2-1  (bh2+1  (e)V2 (d) -2




15

The value of x in the given figure is

b+c ac bc a-+c
ac (b} b+c (c) a+te (d) he

(@)

16.

If xsingf-l + ycos3A = sindcosA and xsin A = ycos A then x2+ yzis
equal to

(2)0 (b} (c)1 (d)+

17.

It the sum of the zeroes of a quadratic polynomial kx’ + 2x + 3kis
equal to the product then k is equal to

@ (b) -5 (c) > (d)- =

18.

|A ABC~ A PQR.If AM and PN are altitudes of A ABC and A PQR
respectively and (4B)": (PQ)” =4:9 then AM:PN is
(a)16: 81 (b) 4:9 (c ) 3:2 (d) 2:3

19.

DIRECTION: In question number 19 and 20, a statement of
assertion (A) is followed by a statement of Reason {R).
Choose the correct option
Statement A {Assertion:The HCF of two numbers is 5 and their
product is 150, then their LCM is 30.
Statement B{Reason): For any two positive integers a and b
HCF (a,b) +LCM(a,b)=a x b
(a) Both A and R are true and R is the correct explanation of A.
(b} Both A and R are true but R is not the correct
explanation of A.
(c) Ais true but R is false.
A is false but R is true.

20.

Assertion The pair of linear equations X+Y-4=0 and 2X+KY-3=0
has no solution , then K=2

Reason(R}): ax + bly +c, =0 and a,x + bzy +c, = 0are

a h
consistent iif * b—l
2 2

(a)Both A and R are true and R is the correct explanation of A.

(b) Both A and R are true but R is not the correct explanation of A
(c JA is true but R is false.

(d)A is false but R is true.




SECTIONB

S. No.

Section B consists of 5 questions of 2 marks each.

Marks

21.

Find the value of cos 60°geometrically.
OR

Prove: (1/3+1) (3 - cot 30°) = tan 3 60° — 2 sin 60°

22

Solve for ‘x’ and ‘y’:
2**Y= \8 and

349 = 3

23.

I:f one zero of a polynomial 3x2-8x+2k+1 in seven times the other, find
he value of the k.
OR

o and 3 are zeroes of the quadratic polynomial x:— 6x + y. Find the
value of *y’ if 3a + 2 = 20.

24,

Find the distance between points

(acos® + bsin®, 0)and (0,asin® + bcosB )

25.

In the given figure, ABCD is a parallelogram. AE divides the line
segment BD in the ratio 1 : 2. f BE = 1.5 cm find BC.
B

SECTION C

S.No.

Section C consists of 6 questions of 3 marks each

Marks

26

Students of a class are to stand in rows. If one student is extrain a
I‘row, there would be two rows less. If one student is less in a row,
here would be three more rows. find the number of students in the

class .
OR

[For what value of K” will the following pair of linear equations have




infinitely many solutions ?
Kx +3y - (K-3) =0
12x+ Ky -k =0

27 Determine the ratio in which the straight line x-y-2 = ( divides the 3
line segment joining the points whose coordinates are (3.,-1)and
(8,9).
Or
Determine the coordinates of the center of a circle passing through
the points A(8, 6) , B(2, -2} and C(8, -2).
28 In a given right triangleABC,right angled at B,find the length of the 3
PC?
A
]
5 . Kt 5
e C
29 Show that 7 - 2\5 is irrational, given that —\fg is an irrational 3
humber.
30 If o & B are the zeroes of quadratic polynomial x?>=(k+6)x+2(2k-1). 3
Find the value of k so that u+[3=%u B
3 f roots of the equation (I’+m?) x’-2(In+mp)x-+(n’*+p?)=0 are equal| 3
hen prove that
L _nm
m "~ p
SECTION D
S.No. Section D consists of 4 questions of 5 marks each Marks




32

To fill a swimming pool two pipes are to be used. If the pipe of largen

diameter is used for 4 hours and the pipe of smaller diameter for 9

hours, only half the pool can be filled. find how long it would take

or each pipe to fill the pool separately, if a pipe of smaller diameter

takes 10 hours more than the pipe of larger diameter to fill the pool.
Or

In a fight of 600 km, an aircraft was slowed down due to bad

weather. Its average speed for the trip was reduced by 200 km/hr

’trom its usual speed and the time of flight increased by 30 minutes.
Find the scheduled duration of the flight.

33

Prove that if a line is drawn parallel to one side of a triangle
intersecting the other two sides in distinct points, then the other
two sides are divided in the same ratio.

Using the above theorem, prove that in the given figure, if ABCD is
a trapezium in which,AB ||CD || EF then

AF _ BF
ED FC
\8
L’/ F
D C




e secA=x + ;-L—, then prove that secA+tanA= 2x or ﬁ

[Or

cosm E o 2 2 7 N 7
et = ™ aned e = n then prove that (m + n'jcos f =n

35

Solve graphically the pair of linear equations x-y+1=0 and
3x+2y-12=0.Find the coordinates of vertices of triangular region
rmed by these lines and x-axis.Also calculate the area of the

iangle.

SECTION E

Case study based questions are compulsory

36

On her birthday ,Seema organized two parties.First one for
elatives and family members and second for her colleagues..She
ecided to make pizza herself .Pizza base{whole wheat) and
auce comes in equal number of pieces.Pizza comes in a packet
4 pieces and sauce in a packet of 14 pieces.She ordered x
ckets of pizza and y packets of sauce for first party and 4x
ckets of pizza and sufficient packet sauce for second party.lt is
nown that the number of her relatives and family members is

1) How many persons she invite for the first party?
2) How many packets of pizza did she order for the first

party?
3) How many packets of sauces are needed for the second

party?
Or

How many packets of pizza were ordered for the second
party?




37

riya and Neerja are best .They are staying in the same

olony.Both are studying in the same school.During summer

acations Priya visited Neerja’s house.They decided to play
siness game with two dice.

[

win a game Priya needed a total of 7 on both the dice.

1) What is the probability of winning a game by Priya?
2) To win a game Neerja needed a doublet.What is the
probability of winning a game by Neerja?

3) What is the probability that on tossing both the dice ,at
least one number is a multiple of 2

Or

What is the probability that the sum of numbers on both
the dice is divisible by 2 and 37

Environment Day .the teacher explained the importance o
nts and trees in our life,the need for a greener environment an
onservation of nature.To celebrate the Day,out of 5 sections
lass 10 each section planted plants in the school garden .
ition of plants is shown in the coordinate geometry.




janswer the following questions:

1) Find the distance between Amla plant and Mango plant?
2) If we join the Amla,Neem ,Peepal and Banyan plant,what will
be the length of the diagonal of the figure obtained.

3) If class 11 students want to plant a plant which is
equidistant from the Mango and Neem plant and lies on
x-axis then what will be the coordinates of that point?

Or
If class12 students want to plant a Peepal which divides

line sagment joining Amla and Mango plant in the ratio 2:3
Jthen find the coordinates of that point
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SCIENCE (086)
CLASS X
SAMPLE QUESTION PAPER (2023-24)

Time allowed: 3 hours Maximum Marks: 80

General Instructions

I. This question paper consists of 39 questions in 5 sections.

ii. All questions are compulsory. However, an internal choice is provided in some questions. A
student is expected to attempt only one of these questions.

iii. Section A consists of 20 objective type questions carrying 1 mark each.

iv. Section B consists of 6 Very Short questions carrying 02 marks each. Answers to these
questions should be in the range of 30 to 50 words.

v. Section C consists of 7 Short Answer type questions carrying 03 marks each. Answers to these
questions should be in the range of 50 to 80 words.

vi. Section D consists of 3 Long Answer type questions carrying 05 marks each. Answers to these
questions should be in the range of 80 to 120 words.

vii. Section E consists of 3 source-based/case-based units of assessment of 04 marks each with
sub-parts.

SECTION - A
Select and write one most appropriate option out of the four options given for each of the
guestions 1-20.

Q. No. Questions Marks

1 Solid calcium oxide reacts vigorously with water to form calcium hydroxide
accompanied by liberation of heat. This process is called slaking of lime. Calcium
hydroxide dissolves in water to form its solution called lime water. Which among the
following are true about slaking of lime and the solution formed ?

() It is an endothermic reaction.

(i) It is an exothermic reaction.

(i) The pH of the resulting solution will be more than seven.

(iv) The pH of the resulting solution will be less than seven.

(@ (i) and (ii)
(b) (i) and (iii)
(¢) () and (iv)
(d) (i) and (iv)

1




In the balanced equation :
aFe203 +bH2 —-----mmmm- > c Fe + dH20
What are the values of a,b,c and d respectively?
(a)1,1,2,3
(b) 1,1,1,1

©) 1,3,2,3
(d) 1,2,2,3

When the gases sulphur dioxide and hydrogen sulphide react , the reaction is

SO2+ 2H2S > 2H20 + 3S

Here hydrogen sulphide is acting as:

(a) Oxidising Agent

(b) Dehydrating Agent
(c) A catalyst

(d) A reducing agent

The sting of an insect has pH 6. Which of the following can be used to treat
effect of the sting?

(a) Hydrochloric acid

(b) Vinegar

(c) Sodium hydrogen carbonate
(d) Sodium hydroxide

Which of these graphs shows how pH of milk changes as it forms curd ?




(c)

(d)

Fr on of iron sulphate was taken in each of the four test
tuk and aluminum were placed separately in the four test
tuk 2d in two of them. Which two metals have formed the
pr( ‘\l'\ 'Il

Tere
(c) iron and aluminum
(d) zinc and aluminum




What may have prevented Iron pillar near Qutub Minar in Delhi from getting
rusted?

(a) It has a layer of Fe203 deposited on its surface.
(b) It has a coating of paint on its surface.

(c) It has been electroplated.

(d) It is made of an alloy.

. In the figure given below, which one accurately depicts geotropism.

Te———

(@) a
(b) b
(c) c
(dbandc

A person is suffering from a severe cold and he is not able to differentiate the
fragrance of a perfume from that of an incense stick. What could be the possible
reason?

a) During cold, the mucus blocks the gustatory receptors in respiratory passage.
b) During cold, the mucus blocks the auditory receptors in respiratory passage.
c¢) During cold, the mucus blocks the olfactory receptors in respiratory passage.
d) Because a person is not able to take in air through nose.

10

Phloem in mango tree transports

a. Sucrose

b. Starch

c. Glucose

d. Sucrose,amino acids and other substances.

11

The following figure shows the structure of a mammalian heart.




Which blood vessel experiences the highest blood pressure?

Qoo
NS < X

12

Rajan, under the effect of alcohol, is not able to maintain his balance while
walking.Which part of his brain would have been affected in this condition?
a)Cerebellum

b)Cerebrum

c) Pons

d) Medulla

13

50 Joule of heat is produced each second in a 2 ohm resistance coil.The current
produced in the resistance is

A) 2 Ampere
B) 5 Ampere
C) 5 milliampere

D)25 Ampere

14

What will be the motion of a positively charged particle entering in a magnetic field as
shown below-




(a) Upward
(b) Downward

(c) Left
(d) Right
15 A student set up an experiment in which he placed a candle and a living plant in flask A while
a candle and a dead plant in flask B.He observed that the candle in flask A burns longer than
the one in flask B.State reason for this observation.
o' \ f' - __ ] B
a) Water vapours produced by living beings prevents burning of candle.
(b) Green plant produce oxygen which support burning of candle.
(c) Burning of candle decreases the life span of plant.
(d) Candle produces high amount of carbon dioxide.
16 A potted plant is kept in the dark for two days. A leaf (still attached to the plant) is used in an

experiment to investigate the effect of two factors (light and carbon dioxide)on photosynthesis
as shown in the diagram.

Conm ot 30 ol
[
Green
|
w Leal removed ana
oo for £ bestec! for starch
S Sutatance i stworts
CADOn dance

What are the colours of Q and R , when the leaf is tested for starch, using iodine solution?




Q R

(a) Blue Black brown
{b) Brawn Brown

{c) Blue/black Bluefblack
{d) Brown Blue Brown

Q. no. 17 to 20 are Assertion - Reasoning based questions.

These consist of two statements — Assertion (A) and Reason (R). Answer these questions
selecting the appropriate option given below:

(a) Both A and R are true and R is the correct explanation of A.

(b) Both A and R are true and R is not the correct explanation of A.

(c) Ais true but R is false.

(d) Ais false but R is true.

17 Assertion: The colour of an aqueous solution of copper sulphate changes from blue to
colourless when a zinc strip is placed in it.

Reason: Copper is a more reactive metal than zinc.

18 Assertion- The lungs remove respiratory waste ie CO2.
Reason -This carbon dioxide enters from the body tissues into the bloodstream by the
diffusion.

19 A: Fuse is used to protect appliances by stopping the flow of any unduly high electric
current.
R: Fuse is placed in series with the appliances.

20 Assertion: Plants don't have a nervous system for control and coordination.
Reason: Plants use electrochemical means to convey information from cell to cell.

SECTION -B
Q. no. 21 to 26 are very short answer questions.

21 In the electrolysis of water, why is the volume of gas collected over one electrode double that
of the other electrode? Explain with the help of a chemical equation.

22 A rabbit got scared of seeing a cat. Its body has to prepare for either fighting or running away.
a) Name the hormone found to be high in its blood.




b)State the immediate physiological changes that take place in its body so that the rabbit is
either able to fight or run.

23

A tendril provides support to a plant with weak stem .How do auxin promote the growth
of a tendril around the support?

24

A compass needle is placed near a conductor PQ of length |. The conductor PQ is
connected to a battery of 6V and a plug key in series to it. Now as the key is inserted
in the circuit, the compass needle starts deflecting. Find the direction of magnetic field
lines around the conductor PQ. Now the same conductor is connected to a 9V battery.
Find the direction of the magnetic field lines around the conductor PQ. Also tell what
will be the change in the deflection of the compass needle.

r—&

-—

25

Q25 a) Two wires carrying same current ‘I’ flowing in them in the same direction
are arranged as shown in the following figure.At which point out of A and B
magnetic field is zero ? Give reason.

C
¢ >
/con ;

‘ ] [com

-

b) Draw magnetic field lines in the region between X and Y magnets of the same
strength.




26

Priya, a class 10 student, observed a fish in an aquarium in the Biology lab. She was
amazed to see the fish continuously opening and closing its mouth. She compared the
breathing rate of fish with her’s ,which was very slow. She went to her teacher to ask
the reason for difference in breathing rate between her and fish-

What would be the possible reason for priya’s observation?

SECTION - C
Q.no. 27 to 33 are short answer questions.

27

(a) State and explain any two methods of preventing rancidity of food.
(b) What type of chemical reaction is responsible for causing rancidity?

28

.(a) A white compound becomes hard when mixed with water. It is used in the
medical industry. Write the chemical name and formula of this compound.
(b)Why does this substance become hard on mixing with water? Explain
with the help of a chemical equation.

OR

A white coloured compound ‘X’ , on strong heating, produces a white solid ‘Y’

and a colourless gas ‘G’. Y’ on mixing with water gives a colourless solution of ‘Z’ and
heat is evolved. When carbon dioxide is passed through the ' Z’ it turns milky.The aqueous
solution of ‘Z’ turns red litmus blue.

(@) Write the chemical names of ‘X’ , Y’ , ‘Z’ and ‘G’.

(b) Write the balanced chemical equation for the reaction between ‘G’ and ‘Z’.

29

When gasHCI is a mineral acid which is highly corrosive by nature. It plays a key role in
the process of digestion.

HCl is produced in which part ‘G’ is passed through lime water, it turns milky. of the
alimentary canal?

b. What is its function?

C. How does the human body protect the alimentary canal from the corrosive
effect of this acid?

30

The following figure shows blood circulation in humans with labels A to D.




a) Compare the structures of the blood vessels labeled as A and C.
b)Why is B considered to be very important in the circulation process?(2+1)

31

1) Two resistors X and Y of resistances 2Q and 3Q respectively are first connected in
parallel and then in series. In each case the voltage supplied is 5V.
(a) Draw circuit diagram to show the combination of resistors in each case.
(b) Calculate the voltage across the 3Q resistor in the series combination of
resistors.

32

(a) What are the factors on which the resistance of a conductor depends on a
particular temperature?

(b) Two resistances, R1 & R2, R1>R2, are connected in series with a voltage source
V. Which resistance will have a higher potential drop and why?

33

(a)Mention a factor on which resistivity depends.
(b) If a wire is doubled on it, by what factor the resistivity and resistance
change?

SECTION -D
Q.no. 34 to 36 are Long answer questions.

34

An element ‘X’ has two electron in M-shell and another element ‘Y’ has six electrons
in L-shell.
(@) Show the formation of a compound between *X” and Y’ , with the help of electron dot
structure.

(b) What type of bond exist between the species formed by ‘X’ and ‘Y’ during formation of
the above compound ?

(c) Describe the nature of the compound formed in terms of its melting point,solubility in
water and conduction of electricity

OR




An element ‘X’ is burnt in air in a jar. The ash formed by burning of ‘X’ is mixed with water
to form a solution. This solution turns red litmus blue.

a) Describe two characteristic physical properties of element ‘X’ which make it useful for
making cooking utensils and bells.

b) Metals, except Mg and Mn, do not evolve hydrogen gas on reaction with nitric acid.
Explain why?

c) Element ‘X’ reacts with an aqueous solution of both YSO4 and ZSO4, but element ‘Y’
does not react with ZSO4. Arrange the elements ‘X’ , ‘Y’ and ‘Z’ in the decreasing
order of their reactivity.

35

a)In human beings energy is obtained by aerobic respiration but sometimes anaerobic
respiration occurs in muscles during vigorous exercise.Trace the pathway of anaerobic
respiration in human beings with the help of a flow chart.

b)Draw the diagram of the human excretory system and label the following parts.
i)Long tubes which collects urine from the kidney

i) Stores urine until it is being passed out.

36

a) A long solenoid is shown in the figure. .The magnetic field at points A,B,C and D given in the
figure is same or different at all points.Support your answer with reason.

) Diagram below shows a current carrying circuit with the solenoid. Observe it carefully and
answer the following :

AKX
.’l‘n
st A
NS N
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i) Draw the magnetic lines of force in the solenoid if the polarity of the above circuit
is reversed.




i) State the rule used to draw the magnetic lines of force in the current carrying
straight conductor..

c) There are two different electrical circuits set ups with a coil of copper wire of 25 turns in
each of the circuit, but the current rating is different in both the circuits. Circuit -1 has the
current rating of 5 A and Circuit -2 has the current rating of 15 A. Compare and mention
which one of the circuit has more magnetic strength and why?

SECTION - E
Q.no. 37 to 39 are case - based/data -based questions with 2 to 3 short sub - parts. Internal
choice is provided in one of these sub-parts

37 | CASE BASED STUDY QUESTIONS: 4

Acid, Bases and Salts

The acids are sour in taste while bases are bitter in taste. Tasting a substance is not a good way
of finding out if it is an acid or a base. Acids and bases can be better distinguished with the help
of indicators. Indicators are substances that undergo a change of color with a change of acidic,
neutral or basic medium. Many of these indicators are derived from natural substances such as
extracts from flower petals and barriers. Some indicators are prepared artificially. For example,
methyl orange and phenolphthalein.

Answer the following questions:

1.1dentify the color change ,when a few drops of phenolphthalein is added to a solution having
pH 12.

2.What happens when a solution of an acid is mixed with a solution of a base in a conical
flask?Name the type of reaction involved.




3.Rishabh takes three solutions P, Q and R and makes the reaction of all these solutions with
phenolphthalein indicator and methyl orange indicator. He got the following result:

| Solutions | Colour Colour
| chasige witls change with
| phienolphtbalein | methyl
E fmdicator O
: I jineieator
P | Pink | Yollow
| .’ : Cloliner hims L range
| & | Cotonrions Rl

Out of P,Q and R ,which of the following is an acidic solution.

OR
3.0n washing with soap, what is the change of color of turmeric stain on the cloth .Justify your
answer.

38

In the month of July, Raman tied a polythene bag around a bunch of green twigs of a
tree rooted in the garden in the early morning .After 7 hrs he observed the water
collected in that polythene bag.

a) Name the process responsible for the collected water in polythene.
b) What would happen if the polythene is tied at night and observed next morning?
¢) How does this process help the plant to maintain its life processes?(any two points)

39

Four students P, Q, R, S are working in a physics lab. The identical bulbs of power
10W are provided to them. They made four circuits as shown below.




a) In which student brightness of bulb A will be more?
b)What will be the value of current made by student P in his circuit?

c) Compare the value of potential drop across bulb A calculated by all the four students in their
respective circuits.

SCIENCE (086)
CLASS X
MARKING SCHEME (2023-24)

Questions

Marks

SECTION - A

N | OO | o0l W DN




8 a 1
9 C 1
10 d 1
11 b 1
12 a 1
13 b 1
14 a 1
15 b 1
16 b 1
17 c, Aistrue butR is false. 1
18 b. 1
19 a 1
20 a 1
SECTION - B

21 In electrolysis, water is decomposed in the presence of electricity to its 2

components. The reaction is shown as below:

2H20(1)—2H 2(g)+02 (9)

As we can see, water splits into 2 molecules of hydrogen and 1 molecule of

oxygen. Since, the number of molecules of hydrogen released is double the

number of molecules of oxygen released, Volume occupied by hydrogen gas is

double the volume occupied by oxygen gas.

Hence, the electrode at which hydrogen gas is collected (Cathode) shows double

the volume than the electrode at which oxygen gas is collected (Anode).
22 a)Adrenaline (1) 2

(b)- Heart beats faster

-Increased supply of O2 to muscles.

. -Blood to digestive system & skin reduced,(¥2+%2) (any two points)
23 -Auxin accumulates on the side away from touch. 2

-Cell elongation on that side & tendril curls around the support (1+1)
24 Outward- on the left side (¥2) 2

Inward - on the right side of conductor(%2)




Even if a 9V battery is used instead of 6V, the direction of magnetic field does not
change but deflection in the magnetic compass will be more as intensity of
magnetic field increases with the increase in current. (1)

25 At point A magnetic field will be zero.(1)
Diagram (1)
26 -A fish being an aquatic organism obtain oxygen dissolved in water which is comparatively
less so it needs to breathe faster.
- Priya being a terrestrial organism takes oxygen from atmospheric air which is
comparatively more so she breathes slowly.(1+1)
SECTION - C
27 a) 1.Use of antioxidant: antioxidant are those substances prevent from oxidation
2. Use of nitrogen gas:it is a inert gas, does not react with fats and oils
3. Use of air tight container : reduces the exposure of air and slow down the
oxidation process ( any2) @)
b) Redox / Oxidation reaction (2)
28 (a)Chemical name : Calcium hemihydrate
Chemical formula: CaS0O4.1/2H20
(b) Plaster of paris/calcium hemihydrate ,on mixing with water, gives gypsum which is a
hard solid mass.
CaS04.1/2H20 + 3/2H20 — CaS0O4.2H20
plaster of paris gypsum 1+2
OR
a) X=Calcium carbonate Z= Calcium hydroxide
Y= Calcium oxide G = Carbon dioxide
(Y2 X4)
b) Ca(OH)2 + CO2 — CaCOs + H20 1
29 (a) stomach.(1)

b)Acidic medium/Kill germs present in
food.(1)




C) Mucus present in gastric juice protects the inner lining of the stomach. (1)

30 .a). A Artery
C-Vein (any 2 difference)
b). B- Capillaries
i) Connecting vessels between arterial and venous system.
i) the exchange of materials take place across capillaries. (Any one point)(2+1)
31
(2)
Voltage across 3 ohm resistor =3V (1)
32 (a) Resistance is directly proportional to length of conductor, inversely
proportional to area of cross section and also depends upon nature and
material of the conductor. (2)
(b) Potential drop will be higher across R1 as V is directly proportional to R. (1)
33 (a) Nature of the material. Q)
(b) Resistivity will remain the same. (%)
Area is twice and length is halved. (¥2)
So according to the formula R {1 /A (%)
New resistance will decrease by a factor 4.(%2)
SECTION - D
34 a)
o ¥+ ] F+ KN 2
X: +Yi——(X)[:Y:]
b) ionic bond

c)1. high melting and boiling point because large amount of energy is required to break
strong inter-ionic attraction




2. solubility- ionic compounds are soluble in water
3. Conduction- in solid state they do not conduct electricity but in molten/ aqueous state
they conduct electricity because ions can move freely

OR
a) ‘X’ is a good conductor of heat, therefore, it is used for making cooking utensils.

‘X’ produces sound when it strikes a hard surface ,the substance are said to be
sonorous and the property is called sonorosity. Therefore, it is used for making bells.
b) It is because nitric acid is a strong oxidizing agent.

It oxidizes the H2 gas produced to water and itself gets reduced to nitrogen oxides.
C)X>Z>Y

35

==(Emans
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b.Diagram (1)
Labels

i)Ureter

i) Urinary bladder (1+1)

36

Ansl . The magnetic field at points A,Band C is uniform and magnetic field lines
move from south to north whereas at point D the magnetic field is not uniform and
field lines move from north to south .as in bar magnet.
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i) {1y
i) Right hand thumb rule:Thumb rules state that if thumb of the right hand points

along direction of current, then the remaining curled , fingers of same hand gives
the direction of the magnetic field due to the current.

Ans3 Circuit 2 with 15 A current has more strength of current as magnetic strength




is directly proportional to the amount of current flowing through the circuit hence
more the current more is the strength of magnet .

SECTION - E
37 1.Changes to pink
2.Neutralization reaction occurs when a solution of an acid is mixed with a solution of a
base in a test tube. The result of the reaction is the production of salt and water with the
evolution of heat.
3.Solution - R
OR
3.Turmeric is a natural indicator which turns red when it comes in contact with bases. Since
soap is basic in nature, the turmeric stain turns red.
38 a)Transpiration (1)
(b) Very less as rate of transpiration is slow at night Q)
(c)i)Ascent of Sap -absorption and upward movement of water and minerals..
i) Temperature regulation. (1+1)
39 a) StudentP (2)
b) I=?
P=10W
V =220V
P=VI
| = P/V =10/220= 0.045A (1)

c) Incase of student P
V=220V
In case of student Q
Total Power = 10+10= 20W
V=220V
I=P/V =20/220=1/11

Potential drop across
Bulb A =V=P/I = 10/(1/11)=110V

In case of student R
Total Power = 10+10+10= 30W
V=220V

I=P/V =30/220=3/22 A




Potential drop across
Bulb A =V=P/I= 10/(3/22) =220/3= 73.33V

In case of student S

Total power =10+10+10+10 = 40W
V=220V
I=P/V=40/220=2/11

Potential drop across
BulbA = Vv=P/I= 10/ (2/11)=55V

(¥ x4=2




SOCIAL
SCIENCE




SAMPLE QUESTION PAPER
SOCIAL SCIENCE (CODE 087) CLASS X — SESSION 2023-24
Time Allowed: 3 Hours Maximum Marks: 80
General Instructions:

1. The question paper comprises Six Sections — A, B, C, D, E and F. There are 37
questions in the Question paper. All questions are compulsory.

2. Section A — From questions 1 to 20 are MCQs of 1 mark each.

3. Section B — Question no. 21 to 24 are of 2 marks each. Answers to each question
should not exceed 40 words.

4. Section C contains Q.25to Q.29 are of 3 marks each. Answer to each question
should not exceed 60 words

5. Section D — Question no. 30 to 33 are of 5 marks each. Answers to each question
should not exceed 120 words.

6. Section-E - Questions no from 34 to 36 are case based questions with three sub
questions and are of 4 marks each. Answers to each question should not exceed 100
words.

7. Section F — Question no. 37 is Map based, carrying 5 marks with two parts, 37a from
History (2 marks) and 37b from Geography (3 marks).

SECTION A

Read the statements given below and choose the correct option which best | 1
describe these statements .

i. In 1928, this movement was a success under the able leadership of
Vallabhbhai Patel.

ii. It was against enhancement of land revenue.

iii. The struggle was widely publicised and generated immense sympathy in
many parts of India.

a. Peasant movement in Awadh

b. Tribal Movement in Gudem Hills
c. Protest of Assam tea planters

d. Bardoli satyagraha

2 1
The root cause of resource depletion at the global level according to Pg
Gandhiji, is- 48&5

a. use of resources




b. overpopulation
c. use of modern technology.

d. backward technology

1
Look at the picture given below and identify the sector to which the worker Pg
belongs from the following options: 20
a.Primary Sector
b. Secondary Sector
c. Tertiary Sector
d. Organized Sector
1
The State having the largest area under permanent forest is- Pg
20
a. Himachal Pradesh
b. Madhya Pradesh
c. Assam
d. Karnataka
Identify the feature which is not included in the Belgium Model:- 1

(A) Dutch and French speaking ministers shall be equal in the government
(B) Many powers of the central government have been given to state
governments




(C) Brussels has a separate government in which both the communities have
equal representation

(D) There is a community government which has special power of
administration.

Series of majoritarian measures were adopted to establish Sinhala
Supremacy. choose the odd one out

a Sinhala as the only official language

b Reference to Sinhalese in Universities and jobs

c Constitution to protect and foster Buddhism

d Recognition to independent Tamil Eelam

There are two statements marked as Assertion (A) and Reason (R).
Mark your answer as per the codes provided below:

ASSERTION (A) : The leaders of Sinhala community sought to secure dominance
over the government by virtue of their majority.

REASON (R) : Srilankan Tamilians felt that the constitution and government
policies denied them equal political rights

a. Both (A) and (R) are true and (R) is the correct explanation of (A)

b. Both A and R are true and R is not the correct explanation of A.

c. (A) is correct but (R) is wrong

d. (A) is wrong but (R) is correct

There are two statements marked as Assertion (A) and Reason (R ) .Mark
your answer as per the codes provided below:

Assertion (A) : Not every good or service that is produced and sold needs to
be counted to know the total production in each sector.

Reason (R) : The value of final goods already includes the value of all the
intermediate goods.

(a) Both A and R are true & R is the correct explanation of A.
(b) Both A and R are true & R is not the correct explanation of A.
(c) Aistrue but R is wrong

(d) Ais false but R is correct




9 Match the following and choose the correct option: .
A | Civil war 1 Division based on shared culture
B | Moral reason 2 violent conflict within country
C | Ethnic 3 majority rule disregarding minority
D | Majoritarianism 4 power sharing is the spirit of democracy
aA1,B2,C3,D4
b A2, B4,C1,D3
cA1,B3,C2, D4
dA2,B4,C3, D1
10
Identify the major issue which was criticised by the liberal nationalists?
a. Censorship laws to control the press.
b. Preservation of the Church.
c. A modern army.
d. Efficient bureaucracy.
11 | The following table is showing the monthly income of two countries A and B

Country | Il 1] A\ Vv Average
A 9500 10500 9800 10000 10200 ?
B 500 500 500 50000 48000 ?

Analyze the data given above in table and choose the correct average
income for both the countries from the given options:

a. A: 10000 B : 20000
b. A: 10000 B: 10000
c. A:20000 B:50000

d. A:30000 B; 40000




12 (_Zhoose the option that depicts the cartoon appropriately.
a. Center and state relationship
b. symbols of different political parties
c. Perils of running a coalition government
d. Power of Prime Minister
13 | Match the items given in Column A with Column B and choose the correct option:
COLUMN A COLUMN B
1 Meaning of ‘Liber’ a The fatherland
2 Meaning of ‘Elle’ b The Citizen
3 Meaning of ‘Le Citoyen c Free
4 Meaning of ‘La Patrie’ d Unit to measure cloth
OPTIONS:-
(A)1b,2c,3d,4a
(B)1c,2d,3b,4a
(C)1c,2a,3b,4d
(D)1¢c,2b,3a,4d
14 | Arrange the following in the correct sequence—

i. Transporting cloth to the workshops.
ii. Sale in shops and showrooms.
iii. Spinning the yarn




iv. Weaving of the fabric.

a. (i)-(iv)-(iii)-(ii)
b. (iv)-(ii)-(i)-(iii)
c. (iii)-(i)-(ii)-(iv)
d.(ii)~(iii)-(i)-(iv)

15

Select the correct option from the following with respect to reforms that
made the whole system in France more rational and efficient.

a. Administrative reform
b. Social reform
c. Economic reform

d. Political reform

16

Which of the following statements is NOT correct about Multi-Purpose
projects?

a.They affect natural flow of rivers causing poor sediment flow and
excessive sedimentation at the bottom of reservoirs.

b. Dams fragment rivers making it difficult for aquatic fauna to
migrate,especially for spawning.

c. Local and landless people get the maximum benefit from these projects.

d. They have been the cause of many new social movements like —
Narmada Bachao Andolan etc.

17

Few subjects under the State list have been given below. |dentify the correct
option.

a. Defense, Commerce, Agriculture, Education

b. Police, Trade, Banking , Forest

c . Commerce, Agriculture, Currency, Foreign Affairs

d . Trade, Police, Commerce, Agriculture

18

In most families women do all work inside the home such as cooking,
cleaning, washing clothes, tailoring etc and men do all work outside the
home. It reflects..... choose the correct option.

a Technical division of labour

b Hierarchical division of labour

¢ Sexual division of labour




d Division of labour

19

When parties is choose candidates in elections, they keep in mind the caste
composition of the electorate and nominate candidates from different castes
so as to master necessary support to win elections.The above expression is
best expressed as

a Caste in politics

b politics in caste

c Casteism

d preserved constituencies

20

Match the following and choose the correct option.

Column-A Column-B
[ a
Aditya Birla group Tertiary Sector
i b
MTNL Private sector
iii c
IT & communication Public sector
iv d
Regular terms of employment Organised sector

1) (i-b), (ii-c), (iii-a), (iv-d)
2) (i), (ii-b), (iii-c), (iv-d)
3) (i-d), (ii-c), (iii-b), (iv-a)
4) (i-a), (ii-c), (iii-b), (iv-d)




SECTION B

21

Read the given situation. If the power was not shared between the Dutch
and French communities in Belgium. What would have happened. Give two
consequences.

22

Explain how the First World War helped in the growth of the National
Movement in India?

OR
Critically analyse the role of the peasants in Awadh in the Non- Cooperation
Movement.

23

Mention any two reasons for the conservation of forest and wildlife in India.

24

Unlike gender differences the religious differences are often expressed in
the field of politics. Mention any two of them.

SECTION C

25

“The decade of 1830 had brought great economic hardship in Europe.”
Support the statement with suitable arguments.

26

Explain how the criterion of the World Bank in classifying different countries
is different from that of the UNDP

OR
“Kerala with low per capita income has a better human development Index
ranking in comparison to Haryana ”. Give two reasons.

27

“ India is rich in certain types of resources but deficient in some other
resources”. Support this statement with the help of any three examples.

28

Women face disadvantages and discrimination on several grounds. Explain
any three of them in the context of India.

29

Highlight any three factors responsible for the growth of the service/Tertiary
sector in production.

OR
Explain how the public sector contributes to the economic development of
the country, with the help of examples.

SECTION D

30

Name any two multipurpose river valley projects which have come under
great opposition in recent years. Explain any four reasons for the scrutiny of




the Multipurpose River Valley Projects.

OR
“In ancient India ,there existed an extraordinary traditional water harvesting
system which is relevant in present India”. Support this statement by giving
five examples.

31

Describe the reasons why different social groups join the Civil Disobedience
Movement?

OR
‘The Civil Disobedience Movement was different from the Non-Cooperation
Movement.” Support the statement with examples.

32

The Indian constitution did not give any status of National language to any
one language. Analyze the above statement with reference to how
federalism is practiced in India.

OR
Enumerate major steps taken towards decentralisation in 1992 to make the
third tier of the government more powerful and effective.

33

Explain how more employment opportunities can be created in rural areas ?
Give any five suggestions.

OR
Kanta attends the office from 9.30 am to 5:30 pm. She gets her salary
regularly as laid down by the government whereas Kamal is a daily wage
labour. He goes to shop at 7:30 am and works till 8 pm. Also no rules and
regulations are followed at his workplace.
Compare the employment conditions of Kanta and Kamal by giving five
points.

SECTION E

34

Read the source given below and answer the questions that follow:

Frédéric Sorrieu prepared a series of four prints visualizing his dream of a
world made up of ‘democratic and social Republics’, as he called them. The
first print of the series shows the peoples of Europe and America — men and
women of all ages and social classes — marching in a long train, and offering
homage to the Statue of Liberty as they pass by it. Artists of the time of the
French Revolution personified Liberty as a female figure. She bears the
torch of Enlightenment in one hand and the Charter of the Rights of Man in
the other. On the earth in the foreground of the image lie the shattered
remains of the symbols of absolutist institutions. In Sorrieu’s utopian vision,
the peoples of the world are grouped as distinct nations, identified through
their flags and national costume. Leading the procession, way past the

1+1+




Statue of Liberty, are the United States and Switzerland, which by this time
were already nation-states. France, identifiable by the revolutionary tricolour,
has just reached the statue. She is followed by the peoples of Germany,
bearing the black, red and gold flag.

1.Write any one step that could create a sense of collective identity among
the French people.

2.Define the term ‘utopian’.

3.State any two advantages of a nation.

35

Read the source given below and answer the questions that follow:

Sustained uses of land without compatible techno-institutional changes have
hindered the pace of agricultural development. In Spite of the development
of sources of irrigation, most of the farmers in large parts of the country still
depend upon monsoons and natural fertility in order to carry on their
agriculture. For a growing population, this poses a serious challenge. Land
reform was the main focus of our first 5 year plan .The right of inheritance
had already led to fragmentation of land holdings necessitating consolidation
of holdings.Moreover special weather bulletins and agricultural programmes
for farmers were introduced on the radio and television. The government
also announces a minimum support price to check the exploitation of
farmers by middlemen.

1 State the main reason for small land holdings in India.

2 Mention the step taken by the government to check the exploitation of
farmers by the middlemen.

3 Suggest any two techno-institutional changes that can enhance the
agricultural production in India.

36

Read the source given below and answer the questions that follow:

Recent evidence suggests that the groundwater is under serious threat of
overuse in many parts of the country. About 300 districts have reported a
water level decline of over 4 meters during the past 20 years . Nearly 1/3 rd
of the country is over using their groundwater reserves. In another 25 years,
60 percent of the country would be doing the same if the present way of
using this resource continues. Groundwater overuse is particularly found in




the agriculturally prosperous regions of Punjab and Western U. P. Hard rock
plateau areas of Central and South India, Some coastal areas and the
rapidly growing urban settlements.

Answer the following questions:-
1 Define the term sustainable development

2" Groundwater is being overused in the states of Punjab and Western Uttar
Pradesh. “ Give one reason.

3 Present level of development is unsustainable “ Substantiate your answer
with the help of two examples.

SECTION F

37

Two features A and B are marked on the given political outline map of India.

Identify these features with the help of the following information and write
their correct names on the lines drawn near them.

A. The place where Mahatma Gandhi called off the Non-Cooperation
Movement.

B. The place where the Indian National Congress was held in 1927.




On the same outline map of India locate and label any three of the following
with suitable symbols.

A. A dam built on the river on Mahanadi.
B. Arid soil

C.Major wheat producing state

D.Major jute producing state




MARKING SCHEME
SAMPLE QUESTION PAPER
SOCIAL SCIENCE (CODE 087) CLASS X — SESSION 2023-24

SECTION A

1 d. Bardoli satyagraha 1Pg
35H

2 c. Use of modern technology 1
G

3 a.Primary Sector 1
E

4 b.Madhya Pradesh 1
G

5 d. There is a community government which has special power of administration. | 1

6 d. Recognition to independent Tamil Eelam 1

7 b. Both (A) and (R) are true and (R) is not the correct explanation of (A) |1P

8 1

(a) Both A and R are true & R is the correct explanation of A. E
9 b A2, B4,C1,D3 1
10
A.Censorship laws to control the press.

11 [ b.A:10000 B:10000

12 | c Perils of running a coalition government

13 [B.1c¢,2d,3b,4a




14

b(iii)-(iv)-(i)-(ii)

15
A. Administrative reform
16 | c.local and landless people get the maximum benefit from these projects.
17 |d Trade, Police, Commerce, Agriculture
18 | ¢ Sexual division of labour
19 [a Caste in politics
20
1) (i-b), (ii-c), (iii-a), (iv-d)
21 [ 1. The Dutch community could take advantage of its numeric majority
and force its will on French and German.
2. This could push conflict among the communities further.
3.could lead to Messy partition of the country.
Any two
22

The First World War created a new economic and political situation —
Economic situation means- burden-

1.1t led to a huge increase in defense expenditure which was financed by
war loans and increasing taxes: customs duties were raised and income
tax introduced.

2.Through the war years prices increased — doubling between 1913 and
1918 — leading to extreme hardship for the common people.

Political situation means-anger, hardship, hope and struggle

1.Villages were called upon to supply soldiers, and the forced recruitment
in rural areas caused widespread anger.

2.Then in 1918-19 and 1920-21, crops failed in many parts of India,
resulting in acute shortages of food. This was accompanied by an
influenza epidemic. According to the census of 1921,12 to 13 million
people perished as a result of famines and the epidemic.

Any 2 points.




OR

1.So when the Non-cooperation Movement began the following year, the
effort of the Congress was to integrate the Awadh peasant struggle into
the wider struggle.

2.As the movement spread in 1921, the houses of talukdars and
merchants were attacked, bazaars were looted, and grain hoards were
taken over.

3.In many places local leaders told peasants that Gandhiji had declared
that no taxes were to be paid and land was to be redistributed among the
poor.

ANY 2 POINTS

23
Two reasons for the conservation of forest and wildlife in India:
1.Conservation preserves ecological diversity.
2.1t also preserves the genetic diversity of plants and animals for better
growth of species & breeding.

24 [ 1.Gandhiji says religion cannot be separated from politics.To him religion
is not any particular religion but are moral values. Politics must be
guided by ethics drawn from religion.
2. Human Rights groups argue that most of the victims of communal
rights are from religious minorities. They demand the government to take
special steps to protect religious minorities.
3. Women’s movement argue that Family Laws of all religions
discriminate against women and demand that the government should
change these laws and make them more equitable.
Any 2

25 [ 1. The first half of the nineteenth century saw an enormous increase in

population all over Europe. There were more seekers of jobs than
employment.

2. Populations from rural areas migrated to the cities to live in
overcrowded slums. Small producers in towns were often faced with stiff
competition from imports of cheap machine- made goods from England,
where industrialisation was more advanced than on the continent.

3. Peasants struggled under the burden of feudal dues and obligations.
The rise of food prices or a year of bad harvest led to widespread




pauperism in town and country.

26

The World Bank uses per capita income in classifying countries whereas
UNDP compares countries based on their educational levels, health
status, and per capita income.

OR
i)Kerala has the highest literacy rate in the country.
ii)The Infant Mortality Rate of Kerala is much less.
iii)Net Attendance Ratio of Kerala is higher
Even though Haryana has higher per capita income, it lags behind in
crucial areas such as education n health..

27

India has enormous diversity in the availability of resources.
1.The states of Jharkhand, Chhattisgarh are rich in minerals but less
developed.
2.Arunachal Pradesh has abundance of water resources but lacks in
infrastructural development.
3.Rajasthan is very well endowed with solar & wind energy but lacks in
water resources.

( Any other relevant point)

28

1. Literacy rate among women is only 54% as compared to men with
76%.
Parents prefer to spend more resources on boys' education.
highly paid and valued jobs for women are still less.

on average women work 1 hour more than man everyday
Equal remuneration act 1976 provides for equal wages yet women
in sports ,cinema, factories etc are paid less.

preference to male children.

harassment, exploitation and violence against women- Domestic
violence.

aOROLN

NS

-Any other relevant point.
( Any 3 points.)

29

Rising importance of the tertiary sector in India:

Basic services: The onus of provision of basic services such as hospitals,
educational institutions, transport, banks and insurance companies etc.,.
lies on the Government..

Development of primary and secondary sector leads to the development
of services such as transport, trade and storage.

Rise in income levels: As income levels rise, certain sections of people




start demanding many more services like eating out, tourism, shopping,
private hospitals, private schools etc.
Rise in information technology: Over the past decade or so, certain new
services, such as information and communication technology have
become important. (Any three)

OR

Contribution of public sector to the economic development of nation

Availability of goods at reasonable costs

Creation of infrastructure promotes economic development.
Examples are construction of roads , bridges, railways, generating
electricity etc.

Contributes to HDI: Public sector majorly contributes to the Human
Development Index since health and education industries come under
the purview of the public sector.

Provides encouragement to small. medium and cottage production
units. It also strives for the creation of a welfare state.

Pays attention to aspects of human development such as food &
nutrition, safe drinking water, housing facilities etc. (Any three

points).

30

Shivasamudram ,Sutlej , Tehri Dam (Any other )
1.Regulating & damming of rivers affect their natural flow causing poor
sediment flow & excessive sedimentation at the bottom of the reservoir &
poorer habitats for the rivers aquatic life.
2.They have also been the cause of many new social movements like the
Narmada Bachao Andolan.
3.Local people often had to give up their land,livelihood & their meager
access & control over resources for the greater good of the nation.
4.Inter-state water disputes .
(Any other relevant point)
OR
People had in- depth knowledge of rainfall regimes & soil types &
developed harvesting rainwater systems.
1. In hill & mountainous regions,people built diversion channels like
the guls or kuls of the Western Himalayas.
2. Rooftop rainwater harvesting in Rajasthan. ( Tankas)
3. Inundation channels to irritate fields in the flood plains of Bengal.
4. In aris & semi- arid regions , fields are converted into rain fed
storage structures like the Khadins in Jaisalmer & Johads .




5. ( Any other relevant point)

31

Different social groups in the Civil Disobedience Movement :
(i) Rich Peasantry Group: The Patidar and Jats demanded reduction in
revenue and participated in the boycott program.
(i) Poor peasantry Group: They wanted unpaid rent to be remitted, joined
a radical movement led by the socialist and communist.
(iif) Business Class Group: Prominent industrialists like Purshottamdas,
G D Birla formed FICCI. They wanted protection against imports of
foreign goods and rupee sterling exchange ratio and refused to sell
imported goods.
(iv) Working Class Group: Nagpur Workers adopted boycott of foreign
goods, against low wages and poor working conditions.
(v) Women: Participated in the protest marches, manufacturing of salt
and boycott foreign goods.

OR
Non-Cooperation Movement
1. This movement was started in 1921 to launch Swaraj
2. People were asked to refuse cooperation with the
British.
3. Methodology
a. begin with the surrender of titles that the government awarded, and a
boycott of civil services, army, police, courts and legislative councils,
schools, and foreign goods.
b. As the movement spread, foreign cloth was boycotted and liquor
shops were picketed.
c. As the movement spread, foreign cloth was boycotted, and liquor
shops were picketed.
4. Women did not participate in this movement.
5. The movement was launched to unify Hindus and Muslims.
6. Farmers, Tribals, Plantation workers participated
Civil Disobedience Movement
1. This movement was started in 1930 to attain Purna Swaraj.
2. People were now asked not only to refuse cooperation with the British,
but also to break
colonial laws.
3. Methodology
a. Thousands in different parts of the country broke the salt law,
manufactured salt and demonstrated in front of government salt
factories.
b. Peasants refused to pay revenue and chaukidari taxes, village officials
resigned, and in many places forest people violated forest laws — going
into Reserved Forests to collect wood and graze cattle.
4. Women participated in this movement on a large scale.
5. Muslim league did not participate in the movement, feeling alienated
6. Rich peasants, Business class participated




Any 3 points each

32

1. Hindi was identified as the official language. But Hindi is the
mother tongue of only about 40 percent of Indians. Therefore,there
were many safeguards to protect other languages.

2 Besides Hindi, there are21 other languages recognised as
Scheduled Languages by the Constitution. A candidate in an
examination conducted for the CentralGovernment positions may opt to
take the examination in any of these languages.

3 States too have their own official languages. Much of the
government work takes place in the official language of the concerned
State.

4 Unlike Sri Lanka, the leaders of our country adopted a very cautious
attitude in spreading the use of Hindi.

5 According to the Constitution, the use of English for official purposes
was to stop in 1965. However, many non-Hindi speaking States
demanded that the use of English continue. In TamilNadu, this
movement took a violent form. The Central Government Responded
by agreeing to continue the use of English along with Hindi for official
purposes.

(Any other relevant point)

OR
1.Now it is constitutionally mandatory to hold regular elections to local
government bodies
2.Seats the reserve in elected bodies and the exacted heads for SC ST
and OBC
3.At least one-third of all positions are reserved for women.
4.An independent institution called the State Election Commission has
been created in each State to conduct Panchayat and Municipal
elections.
5.The State governments are required to share some powers and
revenue with local government bodies. PG-24

33

Various ways in which employment opportunities can be created are as
follows:

(a) Banks should provide agricultural credit to the farmers for farming
to improve agricultural production.

(b) Construction of new dams and canals will lead to more
employment in the agricultural sector.

(c) Transportation and storage facilities must be improved to provide
productive employment to not only the farmers but also to others in




services like transport and trade.

(d) Industries such as dal mill, cold storage, honey collection centers
and processing of vegetables should be set up in rural or semi-rural
areas.

(e) More schools should be opened in rural areas. This will provide
jobs to people in the education sector.

(f) Opening dispensaries and hospitals will create jobs for doctors,
nurses and other staff. (Any five)

OR
Contribution of public sector to the economic development of nation
Availability of goods at reasonable costs

Creation of infrastructure promotes economic development.
Examples are construction of roads , bridges, railways, generating
electricity etc.

Contributes to HDI: Public sector majorly contributes to the Human
Development Index since health and education industries come under
the purview of the public sector.

Provides encouragement to small, medium and cottage production
units. It also strives for the creation of a welfare state.

Pays attention to aspects of human development such as food &
nutrition, safe drinking water, housing facilities etc. (Any other
relevant point).




34

35

36

34.1.The ideas of the fatherland and the citizens emphasized the notion
of a united community enjoying equal rights under a constitution.

(1)
(Any other relevant point)

34.2.1t is a vision of society that is so ideal that it is unlikely to actually
exist.

(1)

34.3.a.The existence of nations is a guarantee of liberty,which would be
lost if the world had only one law and only one master.
b.It protects the rights of the people. (2)

(Any other relevant point)
1.The Right of inheritance.

2.The government also announced a minimum support price for
important crops.

3.Irrigation facilities,chemical fertilizers,modern machines etc.

i)Sustainable .Development that meets the needs of the present without
compromising the ability of future generations to meet their own needs

i) Agriculturally prosperous regions: The green revolution hugely
increased the food grain production,and demanded constant
consumption of groundwater for irrigation.

iii)Due to-

A. Natural resource depletion: Example- Overuse of groundwater

B Exhaustion of non renewable resources: Example -Crude oil

—Explanation of the two points

A. Chauri Chaura (U.P.)
B. Madrass session (Dec. 1927)




A. Hirakud Dam (Odisha)
B. parts of Gujarat and Rajasthan
C.Punjab and Haryana
D.West Bengal
- Any Three




